283 | 833 83.1 13
832
284 |84l 842 1IF 4 WD WA
285 | 842 14
843 - -
280 | 912 2 = 382804345 = 16,632.7><10° | = 38280429 = 16422.1><10°
(N) = 16,633 (kN) (N) = 16,422 (kN)
280|912 93 15
280 | 9.13 94 15
290 |913 95 16
290 | 9.14 3 P6 6 6.14(1) 6.1.4(1)
290 | 9.14 5 P6 6 6.14(2) 6.1.4(2)
290 | 9.14 2 Ds=0.55 Ds=0.40
292 | 915 96 16
)
293 | 9.15 9.7 17
)
293 | 9.15 08 9.8
293 [921 5 o
204|922 99 17
205 | 922 6 X1 X2 X1 X6 X7 X7
295 | 922 7 15 D4l 16 D41
M,=0.9><15>¢1,340><429 > M,=0.9><16><1,340><429><
2,825=21923 2,870=23,758
295 | 922 9 M,=21,923+960=22,883 M,=23,758+960=24,718
295 [922 12 =4,349+12,042=16,391 =0,065+11,833=20,898
295 | 922 13 =(22,883 119)/15,152=1.499 =(24,718 119)/20,898=1.177
205 | 922 14 P6 12 1 617 1
295 | 922 9.10 18
911
296 | 922 9.12 18
296 | 922 9.13 19
9.14
296 | 922 9.15 19
297 | 922 9.16 19
297 | 922 9.17 9.17




(

P283)

X1

10F N Q

N =5,086
Q=3820

O 2
1

F
[oc]
N
o

’p‘l
o
0]
(o))

14F

12,103
751
4,401

13F

N ——

24,500
1,505
4,508

12F

37,399
2,270
4,448

11F /

50,223
3,045
4,422

10F /

64,972
3,820
5,086

80,232
4,613
5,262

96,176
5,416
5,498

113,540
6,225
5,886

132,975
7,054
6,588

153,961
7,891
7,114

4F

178,549
8,733
8,335

3F

203,592
9,582
8,489

I

14F

1,389
1,175
505

13F

6,144
2,272
1,729

12F

14,478
3,398
2,874

11F

25,710
4,532
3,873

10F

38,867
5,664
4,537

54,249
6,832
5,304

71,527
8,009
5,958

90,696
9,197
6,498

110,901
10,414
6,849

132,152
11,654
7,204

153,504
12,901
7,238

175,916
14,153
7,597

2F

231,758
10,436
9,548

1F

oOzIozI0ozI0zI0ozZzIzIPOzZzI0ozICZzI0OzZzI0ozZzI0oO=ZzI0O=2zI0=2

259,476
11,298
9,396

2F

197,710
15,421
7,388

1F

O zZIl0ozZlozZ|0oz|0ozIozozlo=z0o=z|0o=zI0o=zZ|0o=z0o=zZ0=2zL

220,767
16,697
7,816

8.3.1 X1

8.3.2 X2




(

(

P.285)

P.285)

(%)
WA WB WC WD D,

14 100 0 0 0 WA 0.40

13 100 0 0 0 WA 0.40

12 100 0 0 0 WA 0.40

11 100 0 0 0 WA 0.40

10 100 0 0 0 WA 0.40

9 100 0 0 0 WA 0.40

8 100 0 0 0 WA 0.40

7 73 0 0 27 wD 0.55

6 72 0 0 28 WD 0.55

5 72 0 0 28 WD 0.55

4 68 0 0 32 wD 0.55

3 69 0 0 31 WD 0.55

2 66 0 0 34 WD 0.55

1 68 0 0 32 WD 0.55

Q ud (kN) D S F es Q un (kN) Q u (kN) Q u Q un
14 19,499 0.40 1.00 7,800 11,271 1.44 OK
13 30,464 0.40 1.00 12,186 17,598 1.44 OK
12 40,111 0.40 1.00 16,044 23,161 1.44 OK
11 48,776 0.40 1.00 19,510 28,154 1.44 OK
10 56,600 0.40 1.00 22,640 32,663 1.44 OK
9 63,900 0.40 1.00 25,560 36,881 1.44 OK
8 70,559 0.40 1.00 28,224 40,710 1.44 OK
7 76,614 0.55 1.00 42,138 44,197 1.05 OK
6 82,165 0.55 1.00 45,191 47,406 1.05 OK
5 87,152 0.55 1.00 47,934 50,287 1.05 OK
4 91,517 0.55 1.00 50,334 52,781 1.05 OK
3 95,267 0.55 1.00 52,397 54,955 1.05 OK
2 98,423 0.55 1.00 54,133 56,708 1.05 OK
1 100,965 0.55 1.00 55,531 58,190 1.05 OK




(

(

P289)

9.3 (lio,)
1.0% Ra
(mm?) (kN) (kN)
1800 28 D35 26,796 11,495 11,281
2000 34 D35 32,538 13,959 12,675
2200 36 D35 34,452 14,780 14,096
2500 52 D35 49,764 21,349 16,280
)
P.289)
9.4
F,L me Nmy mex mey Nmax Nmin
No. (kN) (KN) (kN) (N) (kN) (kN) (kN)
1 2225 6,771 -12,871 -24,910 -3,128 -3,012 34,693 -13,420
2 2225 9,743 376 -20,407 1,043 -3,012 33,162 -7,343
3 2225 9,681 -384 -20,088 0 -3,012 32,781 -7,185
4 2225 9,742 -117 -20,276 0 -3,012 33,030 -7,253
5 2225 9,638 413 -19,998 0 -3,012 32,648 -7,166
6 2225 9,735 -1,122 -20,411 -1,043 -3,012 33,158 -7,354
7 2225 6,761 13,706 -25,023 3,128 -3,012 34,796 -13,508
8 2225 6,981 -12,468 22,994 -3,128 3,012 32,987 -11,889
9 2225 10,199 1,433 22,283 1,043 3,012 35,494 -8,181
10 2225 10,398 207 20,026 0 3,012 33,436 -6,425
11 2225 10,636 58 20,440 0 3,012 34,088 -6,473
12 2225 10,087 100 19,976 0 3,012 33,075 -6,702
13 2225 10,188 -1,931 22,322 -1,043 3,012 35,522 -8,218
14 2225 6,975 12,601 23,071 3,128 3,012 33,058 -11,948
) oMy Ds 0.4
N i Ny Ds 04
1

Npin = 6,771 24,910cx

3,012 = 13,420
a=0.4 0.58 =0.690




( P290)

9.5
Nmax Ra Ra Nmax Nmin tRatRa Nrnin
No.  (mm) (KN) (KN) (KN) (KN) (KN)
1 2225 34,693 36,800  1.06 oK. -13.420 16,280 121 O.K.
2 2225 33,162 36,800 111 O.K. -7,343 16,280 2.22 oK.
3 2225 32,781 36,800 112 O.K. -7,185 16,280 2.27 O.K.
4 2225 33,030 36,800 111 O.K. -7,253 16,280 2.24 O.K.
5 2225 32,648 36,800 113 O.K. -7,166 16,280 2.27 oK.
6 2225 33,158 36,800 111 O.K. -7,354 16,280 221 O.K.
7 2225 34,796 36,800 1.06 O.K. -13,508 16,280 121 O.K.
8 2225 32,987 36,800 112 O.K. -11,889 16,280 137 O.K.
9 2225 35,494 36,800  1.04 O.K. -8,181 16,280 1.99 oK.
10 2225 33,436 36,800 110 O.K. -6,425 16,280 2.53 O.K.
11 2225| 34,088 36,800  1.08 O.K. -6,473 16,280  2.52 OK.
12 2225 33,075 36,800 111 O.K. -6,702 16,280 243 oK.
13 2225 35,522 36,800  1.04 O.K. -8,218 16,280 198 O.K.
14 2225 33,058 36,800  1.11 O.K. -11,948 16,280 1.36 O.K.
(  P292)
96 Qu
b =< Mp (KN m)
No. ) ()|
1 1,950 14 D3| 2_D16 150 9,713 22,770 6,361 | 2.65 O.K.
1,950 0.371 0.00136 2,400 9228 | 3,705| 154 OK.
2 1,950 10 D3 | 2_D16 150 9,713 11,162 5191 | 2.16 O.K.
1,950 0.265 0.00136 2,400 8,324 4,956 | 2.06 O.K.
1 1,950 14 D35 | 2_D16 150 12,950 34,693 7,351 | 2.30 O.K.
1,950 0.371 0.00136 3,200 | -13,420 3357 | 175 O.K.
2 1,950 10 D35 | 2_Di16 150 12,950 33,162 7,018 | 2.19 O.K.
1,950 0.265 0.00136 3,200 -7,343 3,655 | 2.28 O.K.
QSLI Qm
13
Qun Ds=0.3
Ds=0.4
No.l  0.24 0.4><3,200 = 1,920 (kN)
No.2  0.20 0.4><3,200 = 1,600 (kN)
Ds
No.l  Ds=0.4x(7351 13+1920) (2x3,200)=0.47 0.40
No.2 Ds=0.4x(7,018 13+1,600) (2x3,200)=0.44 0.40




P293)

P294)

9.7
Moy N Mo Ty
(kN m) (kN)| (kN m)
54 D35 0713 22,770 37,168 | 3.83 0.K
2 D16 150 ' 9,228 11324 | 147 *
36 D35 9713 11,162 22,750 2.34 O0.K
2 D16 150 ' 8,324 20,456 211 O0.K
54 D35 12950 34,693 42937 3.32 O0.K
2 D16 150 ' -13,420 7,656 0.59 *
36 D35 12,950 33,162 35,866 2.77 O.K.
2 D16 150 -7,343 6,507 | 0.50 *
Ds =0.24 (0.59x0.4 = 0.24)
Ds =0.20 (0.50x0.4 =0.20)
99 Y1
X4 X5[X5 X6/X6 X7
ML (kN m) 305 300] 298 339] 352 119
244 251 227
kN = = =
Qu (N 246 239 302
4611 3,827 10,339
M. (kN m) 3,879 3,177 9,065
3,951 3,857 4,657
3,219 3,207 3,383
1,331 1,331 1,182 1,182 2,316 2,316
Qe  (kN)
6,777 6,777 13,553
M, (kN m) 5,630 5,630 11,833
6,777 6,777 6,777
5,630 5,630 5,057
2,085 2,085 2,085 2,085 3,128 3,128
Qe (kN)
9,154 9,809 9,135 9,146 8,792 21,017
M, (kN m)
8,544 9,209 8,539 8,468 8,088 20,779
Q (kN) 3,170 3,660 3,028 3,518 5,142 5,671
m 3,662 3,172 3,506 3,016 5,746 5,217




(

(

(

P.295)

910 Y1
M, M, M, o
(kN m)| kN m)| (kN m)
X4 8 D4l | 16 D10 12,841 305 8,849 1.42] OK.
axs | X4 920 8 D&l 11,879 8,849 1.38) OK.
X5 =<3000| 8 D41 | 16 D10 12,841 300 9,509 132] oK.
X5 8 D4l 11,879 9,509 128 OK.
X6 8 D41 | 16 D10 12,841 352 8,440 1.48] OK.
o | X8 1,040 8 D4l 11,879 8,440 145 OK.
N =<3000| 16 D41 | 16 D10 24,720 119| 20,898 118 oK.
X7 16 D4l 23,758 20,898 114 OK.
P295)
9.11
Mp (KN m)l Q. (kN)
kN
sTP Q, (kN)| @, (kny | MV | @
x4 920 : 3 410 13 150 2 :‘;Zg 3 ﬁ 5845 193 Ok
X4-X3 <3000 | 8 D4l 9,809 244
X5 : g 2852 £ 6,845 1.93] OK.
4 D13 150 3,660 3,416
X6 g b4 8,792 302 7,938 140 OK.
X6.XT 1,040 4 D13 100 5,746 5,444
X7 > 3,000 | 16 D 4l 21,017 227 7573 135 ok
4 D13 100 5671 5,444 L2
) Mg
Qm
Q.
Qwm
a = ( Q su Q L ) Q M 1.1
P.296)
9.12
X1 X2
Y1 v2|y1 Y2
M. kN m) | 3238 3233 | 4,680 4,680
2,694 3,900
KN 2,694 3.900
Q. (N) 2,694 3,900
Mg (kN m)
Qe  (kN)
18,070 18,070
Me (kN m) 16,413 16,413
18,070 18,070
16,413 16,413
3,012 3012 | 3012 3,012
Qr  (kN)
My (kN m) | 1262 19,646 | 21,093 21,093
13,180 13,180 | 11,733 11,733
318 5706 | -888 6,912
Qm  (kN) vy
5,706 318| 6,912 -888
)
7 8




(

P296)
9.13
M, M, Moy
kN m) «Nm) kNm| &
ME 1,000 12 D4l | 8 D10 | 18299 3233| 16413| 092 | NG.
Y1 =< 3,000 | 10 D41 14,849 16,413 1.10 O.K.
o |V 1,150 12 D4l | 16 D10 | 18780| 4680| 16413| 0.86 | N.G.
Y1 =3000 | 10 D41 14,849 16413| 119 | OK.
) a={(M, M_) My} 11
P.296)
9.14
My M My
N m) «Nm) kNm| &
X1 Y1 1,000 15 D41 8 D10 22,754 3,233 16,413 1.19 O.K.
Y1 =<3000 | 10 D41 14,849 16413| 110 | OK.
RZ 1,150 15 D4l | 16 D10 | 23235| 4680| 16413 L13 | OK.
Y1 > 3,000 | 10 D41 14,849 16,413 1.19 O.K.
)
P296)
9.15
X1 1,000x3,000 15 D41 | 11 DAl
10 D41 | 11 D41
X2 1,150x3,000 15 D41 | 12 D41
10 D41 | 14 D41
X2 1
P297)
9.16
Mp (kN m)l Q. (kN)
Qg (kN o
sTP Qy (kN)| Qy (k) | 2= &N
Y1 15 D4l 196461 2694 co66| 133 oK.
X1 1,000 3 D13 150 5,706 3.012
v =<3000 | 10 D41 3180|260 oo il ok
3 D13 150 318| 3012| ¢
" 15 D4l 21,093 3,900 5213|143 OK
o 1,150 3 D13 150 6,912 3012 5
v =<3000 | 10 D41 sl s o Lol ox
3 D13 150 geg| 3012 2




